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1
Time : !35 Hours Full Marks : 300

qwYy 2-;- g Yol : 300

Note : (1) This question booklel contains 100 (hundred) questions in all
(30 in Section - A and 70 in Section - B). Attempt as many
questions as you can. Each question carries 3 (three) marks.
One mark will be deducted for each incorrect answer. Zero
mark will be awarded for each unattempted question.

T 9¥T-giaH ¥ mw 100 () s ¥ (@ee- 91 § 30 T
GUS-§ 7 70 )| AfEEAUE GsHt B oA FIF B 9967 BT
TG w5 3 (FF) ot w1 ¥ wdm ow aev B Re o
AT FET AR TAF HAART AT B AIAE g B
(2) If more than one alternative answers seem to be approximate to

the correct answer, choose the closest one,

atE eanifers JHRaE I we Iwe B Free uda &, ar Prsem
qel IaT §

3 P.T.O.
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BECTION-A
TIE-H

01. To teach in an over crowded class, a teacher is expected to make use of :
(1) Regular content of teaching.
(2) Change the content to seck attention of all students.
(3) Visual method of teaching,
(4) Change the style/technique (o make use of ICT.

oE G W2 B § g wHg PR Heress ® ST T
ey

(1) Tamer 3 Frafre oaasg &

2) vt et # wrEeeder 3 Rugarg 7 ofted T w0

(3) famerer & g fafer @)

(4) m.ﬁr.ﬂ.%mtﬂmﬁfmqaﬂuﬁaﬂﬂmi

02. For a teacher teaching in a class, which one of the following is more
important ? '

(1) Maintaining discipline

(2) Ensuring learning

(3) Completion of course as per norms

(4) Taking classes regularly

fpeit e § TR WHG NS & feg Frefataa # 8 -
wd s AEEye &ar & 7

(1) STHIES F AAQC TEAT

(2) oifRrm #r gfafEa s

(3) HTE B SAGEIC UEamH (HE) BT FEATI
(4) Frafe g & e 7 98|
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If after completion of teacher’s training, a prospective teache- is

obtaining a chance in Provincial Civil Service, he/she is expected to

join in :

(1] teaching profession

[2) civil service.

{3] depend upon parents in making decision.

(4) censider the financial aspect of jobs in this market oriented
modern society,

aﬁamuaﬁwnﬁrﬂmgﬁm%w,ﬁwﬂmmaﬁ
Hﬁﬁqﬂaﬁmaﬁﬂﬂmﬁmwﬁfﬁmmm&m
& ot ® B aw dvrer w5 ,

(1) Terror ==qg 7

(2) e dar &

(3} Mg 83 & fm wrnfer ot fdc =53

(4) ﬁm%mﬁmwﬁmw.aﬂmm@ﬁmmﬁﬁm?&n

Now-a-days, B.Ed. course has been approved for ODL (open and
distance learning) mode. It is done 50, because :

(1} Contact programmes are being organized.
(2) Practice teaching is arranged.

(3) Itis only for in-service teachers.

(4) It is the call of the day,

T 9497, d1.08. uEHE # silodlo ow o ey
arew F fo wfipfy & o & |Qms'ﬂﬁi(tswﬁm1ﬂﬁﬁﬁ: )
(1) 9% ST & e B smar 3

(2) Reor st #t syawn B o &)

(3) W& Paw FAHE ™R B fw & T

(4) T® \WRT F O B

S P.T.O.
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07.

A teachers is supposed to have some value perception, He/She is
expected 10 give more SLIess over which sort of values in these days ?

(1} Economic (2) Idealistic
(3) Democratic {4) Pragmatic
ﬁﬂW%W@WW(W)H@HTW

T AT # |wgﬁtﬁmﬁaﬁﬁwm%q@naﬁ%
ae AT 9mey ?

(1) ST (2) orEstad
(3) ST (4) SEETL /AATAETE]

Continuous and comprehensive evaluation is more feasible in which
system of the following ?

{1) Annual session (2) Semester system

(3) Midterm asscssment (4) External assessment

P # & Frg oomeh § PR SR aRfE (2rm)
nﬁmmaﬂﬂﬂwmﬁwﬁ?

(1) =@ T= (2) BT TOTEl
(3) HATETE HATHRAA (4) dTEd AR

To be successful in any competitive examination, attending coaching
classes has become essential for students. This expensive system is
required to be !

{1} banned.
{2) continued and promoted.

(3) free ship facility be given to poor students in such coaching
Centres.

(4) this responsibility may be undertaken by schools



09.

15U/92/17(i)

ﬁrﬁnﬁﬁﬁmmwﬂmﬁmﬁ%%%u&nwmﬁﬁ
ﬁrﬁqaﬂmﬂumﬂﬁaﬁﬁrw% | 89 SIETT qonSt Fr

(1) &= FHT 31 =nfen |

(2) FT v of Soefea s arfew

(3) ﬂﬁwﬁmﬁﬁamﬁf%ﬁwgﬁgﬁﬁgﬁmqﬁw
BT =nfeu |

(4) maﬁmﬁaaﬁﬁamtr%mﬁﬂmmaﬁm

Manitorial system is a form for ensuring !

{1} Initial teachers training,

(2] exploitation of students by teachers.

(3) Self discipline.

(4) Leading task/role for bright students in class,

ST-Rr gl @5 R urew @ o givRe e ar
(1) AP #ef sreargerr afiemr 25

(2) oT=AT9H BT BT H sy =)

(3) ST HAFIMEA F )|

(4) maﬁfaaﬁmﬁﬂ%ﬁqmﬂﬁqmmﬁaﬁl

For a good teacher making proper and regular use of ICT is important,
though it is not s¢ easy in a country like India. But due to
technological advancement, now it has become feasible and suitable

for :
(1) all areas (2) urban and semi urban areas
(3} rural areas (4) hilly and remote areas

7 P.T.0,
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10.

11.

12.

o I Nemud @ fre ICT w1 e oF sagew @
mm@%mﬁmaﬁ&wﬁmﬂwmwwﬂﬁ
%Iﬁﬂ'ﬂﬂﬂ'ﬂ-ﬁ’fﬁ“

(1) @ &=t & e (2) sred od ardered At & fo
(3) wefor &= & e (4) uddy ud gre &= & fg

Now teaching is supposed to be a profession. Which one of the following
is egsential for taking into account to ensure itas a profession ?

(1) Ethics and values (2) Discipline and regularity
(3) Honesty and sincerity (4) Professional packages
sirovnel RIeTT @) u saeard /e Je orer € | freaiiiea § |

ﬁaﬂﬂmwaﬁmm%mﬂmmﬁ%mm&%
# saEEal otad w1 4 g ?

(1) ey b Jo (2) oTenES o At
(3) dwrrErl od (@) SoEE g

If in a code language AKASH is written as 1111198, how the word
ZAHAN is to be written in the same language ?

qﬁﬁ%ﬁmﬁh&ﬁﬁ g&s &y 1111198 & &g # for@m e
2, wrar # ZAHAN sr& &1 fpg ave 8§ faem smam 7

(1) 2618114 (2) 2619113
(3) 2618124 (4) 2617124

If in a code language the name CHANCHAL is written as 32, what
code may be given for the name BADAL ?

3R e e wT ® A CHANCHAL % e 32 Ryan wmen & &
39! g & AT BADAL &I g avg & fwan wmem ?

(1] 10 (2) 11 (3 12 (4) 13
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Ifa person X is so related with & woman whose husband is his mother's
son and X has no brother, how is he related with the woman ?

(1) She is his wife (2) She is his sister
(3) She i1s his mother (4) She is his daughter

g X A @ 15 = e afeon § o9 g @ Tt 8
6 3 oftr 38 8 % g3 & oK X 1 1 W W & Ay X
39 #fes d @ gwme A gafag gnm ?

(1) a8 3% g1 B (2) 9% IHA FE|T B
(3) @& IuEd u B (4) T8 IES T B

If & person is walking from a point 1 mile towards west, turns right
and after going a mile turns left, then he moves 2 miles and turns
again left to move a mile. If he turns right again, then in which
direction, the person is going now ?

(1) West (2) East
(3) North (4) South

are FIE i Bt e @ ceed gu ufvem &t ok 1 i st
8, Tt T qeat qe U A9 wert &fT g3 o ¥, ofK 9% 2
Wit g &) 6T Al ol gewt o dter o B sud aw oy
T€ B AT g3 AT 2 A o+ ¥ T8 =Py B Raw At ohe o
T Bhm ?

(1) of¥=s (2) Y&

(3) Tt (4) =f&ror

Find out the last word in the same relationship :
Doctor : Medicine !: Teacher : -------

(1) Class (2] College
(3) School (4) Teaching

9 P.T.O.
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16.

17.

FUR GY & SHE oY AfRR e @ Say
m:aﬂrﬁ::mm:. S

(1) e (2) e
(3) e (4) FareoT

Find out the odd term in the given series :

|1) Picture (2) Chart

(3] Diagram (4) Film strip

ey Aot § Romem 97 A o 4 = 8 &t ey -

(1) == _ (2) IaEt=

(3] Im™ (4) (=@t @) feew gedt

‘Corporal punishment in a school is necessary in order 0 maintain
discipline.’ Is a given statement with the logic behind ?

(1} [t causes psychelogical pressure
(2) Children want freedom, the root cause of all mdiscipline

{3) It ensures learning in school

(4) Itisin favour of teacher

'Wﬁmmﬁﬁmwwframmaﬁ
e 1 BT ored © U8 Hmuq e d 8 % as 9 A
B?

(1) SHA SIS &9 9497 @ &

(2) == T 9Ed E ol gl SFeTEEEeT & 8 @
(3) faemem A gwd dreen giafiaa @ar @

(4) I% emrgenl & fBa F B

10
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18. If the letter A is written of 1 cm. width and 0.25 cm. is added in width

18.

of each subsequent alphabets while writing, what will be the difference
in the width of the M and X ?

(1) 2.25cm. (2) 2.50 cm.
(3) 2.75¢m. (4) 3.00 cm.

A oY A # 1 #HAL. S A B o o Sad " &
U A getaen F el @ diwd # 0.25 em. B gfE H@
8U 4 & fer@r g a1 gaRy B 59 gwe | @@ o sww M
s X it e F fpaer srsie @ ?

(1} 2.25 & .H. (2) 2.50 9.4,

(3) 2.75].41. (4) 3.009.9.

Which one of the following is mismatched in the series ?

(1) Delhi ' (2) Lucknow

(3) Kolkata (4) Hyderabad
Fr=fefas ot & F9-ar 92 o= § e B 7
11y e (2) TETH

(3) BT (4) BeEE

If & passenger train A has to cover the distance of 280 kms. At the
speed of 35 km/hr and to stop at 20 stations each for 4 minutes
duration and another train B has to cover the same distance with
40 km/hr speed and to stop at 15 stations each for 10 minutes
duration, which train will each at the destination, first ?

(1) A 2) B

(3) Both at same time (4) uncertain

11 ' P.T.O.
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21.

22.

23.

aft FEdt garfl M A @ 35 A, avEr gt afe @ 280 RRoHic
gt 20 Rt 97 vl g 7@ FT B € 8T Ve W 4 B
1 zeqa &, I fE gt T 8 @ I g A 40 B A v
£ G § 15 LI g EhHdl g8 A9 HTAT B A Feaeh €T T
e SETE 10 Fee @ & a1 e de P & e gee a7

(1] A 2) B
(3) aEF "=-H1Y" (4) AT

Higher education is basically concerned with .

(1) Providing knowledge (2) Creation of new knowledge
13) Propagation of knowledge (4) Preservation of knowledge
iy wae: qeaie

(1) ¥ 9= & 4 (2) 78 @9 & gos |

(3) = & =T A (4) 9 & Hww @

Deposition activity is done by flowing water mainly, in its |
(1) Upper part of course (2) Lower part of course

(3) Middle part of course (4) In all parts of its course
yaifee 57 B &1 PRI FE e AU S99 Y &

(1) Hof o § fpar oen &8 (2) e owe § R ofen @
(3) "o wer & fpar o B (@) @ Wt # fear omer @

One of the important characteristics of ‘Scientific mind’ is :
(1) Logical thinking (2) High intelligence
(3} Divergent thinking (4) Creative thinking

12
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ATIE F7 @ a% FEEy e 9w ¥ o
(1) afFHs FFa= o aar (2) I== gfaar =1 8Fr
(8) wEvisfier s @ @ (4 gorreash = & @

‘Education for All' means :

{1l Education is to be made accessible for all ,

(2) Enrolment in education may be mandatory for all
[3) Retain in school may be mandatory for all

(4} Providing with quality education

T for fen’ &1 argd g2 B

(1) P & wdf @ R gt auwer gemE

2 =N & B Ben & amies 03 @ afrad ae
@B) & B o Pl § 93 w3 g sfard asrr
(4 TUERTISF $em g3m &

Enhancing the duration of B.Ed. course from one year to two vears is
required from educational point of view, to :

(1} Prowide with quality teacher education and training.
(2) Resolve the issue of trained unemployed prospective teachers.
(3] Cater the growing demand of teachers in society.

(41 Improve school education

ﬁa@nmaﬁmfaﬁ%ﬂﬁaﬁﬁmm
ghte A smasgs & afy

(1) Yo Foe steAmae Ber ofv afeerr 397 deag 6
(2) nﬁm%ﬁmmma’rarwqaﬂﬂmwm@r

(3] Hwﬁﬁwmgmquﬁ{ﬁﬁ

(4) FEwrda fen d gereoaei e

13 P.T.O,
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26.

27.

From education point of view, uniform educational system is essenual
for :

{1) Ensuring the requirement fulfilment of rights to education
(2) Catering the need of poor students
(3] Enhancing the quality ol private schools

(4) Improving educational standard in government schools

Ma afte @ o R sone’ s B ot

(1) Rren B sfteee & o e @ qff g @
(2) T BEt # sEsgEmarsl @ gif #l

(3) st fawrd @ TeEer § 3ET e

(4) e et § AfEw w@w A guw @em

In our existing school system talented and backward both category of
students are neglected due to : '

(1) Lack of economic and other resources
(2) Lack of educational set up

(3) Lack of teachers

(4) Lack of guidance services

aurdl e et goneh ¥ girwrar ofit fed go 2t &
T B B efa /auea T B SEE HROT 8 ¢

(1) onféler ug s EHHuA F T9g
(2) A af@ar (FT a79) & A9
(3) femerRt @ 19

(4) FEym 8= @1 JAWE

14
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28. If is often said that though educational qualifications of people are
increasing but their moral and ethical standard is decreasing day by
day. It is happening perhaps due to :

(1) Our defective system of education

{2) Lack of national policy of education

(3) Lack of educational planning

(4) Lack of proper linkage and relationship between education and
socicty

I8 9 hel AN B B gy At @ Afewen Dt aw @ 2 afee

ﬁﬁmaﬂt%mmwmﬁﬁmw%ﬂ, U O 8 e §

(1) BAHY TTere famem gomelt 35 aeor

(2) T farem i # orerr & o

(3) A Mo F ww B ey

(4) ﬁmﬁw%mmﬁmmﬂﬁmﬁim%
I

29. ‘National Council for Teacher Education’ (NCTE) was established in
the year :

‘T g e 9itwg’ (Howftodiodo) ot wrger Ry o 3
& ? _
(1) 1986 2) 1992 (3) 1973 ~(4) 2000

30. Three R’s do not include :

(1] Reading (2) Writing
(3) Arithmetic ' (4) Recreation
W e (aR'e) ¥ arafifee a8 % .

(1) g&=r (2) FrEsT
(3) oo (4} HTHO

15 P.T.0.
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31.

32.

33.

34.

SECTION-B
gue-q

Kilo watt hour (KWH) is the unit of electrical :

(1) Energy (2} Power

(3] Force (4) Work done
fpeiaTe aTET (Bosaionw) ¥ B e

(1) Tt & 2y ofRT =

(3) A 4 T @ @ W

The isotope used in carbon dating 18 |

i @ Frate § @e-ar avetis sar & ¥ 7
(1) cv (2 €= (3) C» (4) C*

Mercury is used in Thermometers because :

{1) It is very shimng.

(2) It is liquid metal.

(3) It does not wet the walls of thermometer.
{4) It's surface tension is very high.

a7 ST emideT # fear s ¥ i
(1) TE =g e Al ¥

(2) U® ZF g ¥

(3) a8 ety @ Sarat & Bren T8 wEn
(4) TEET g A Aga A g ¥

The Bernaulli's theorem is based on the pﬁnciﬁlc of :
(1) Conservation of momentum (2) Conservation of energy
(3} Conservation of mass (4) Conservation of volume

16
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T @& 9By e fymrs gy HIERE 27

(1) w37 wHeeyor (2) it wewoy

(3] EeAHM wImoT (4) A@AT Hewor

Temperature of an idea] gas is increased from 120° ¥ to 480 K. If the

R.M.S velocity of the molecules of the Bas at 120° K is » m/sec then
its value at new temperature will be :

') 20 m/sec (2) g-mfsec
(3) :imfitﬂ (4) 4o m/sec

mmﬂﬁ'ﬂﬁmmnﬂxﬁa‘mﬂwuﬂxaﬂﬁmm%mﬁ
120°K 9T 7 & S1opell @1 gomrono v Mo & @ R am o3
R =19 B

(1) 2u Mo He (2) -;i*ﬂ'o/ﬂn
(3) ;—" dto 8o 4 40 Fro Ao

The temperature below which a gas can be liquified hy increasing
pressure alone is known as |

(1) Boyle temperature {2} Critical temperature
(3] Neutral temperature (4) Inversion temperature

wmmﬁ%ﬁﬁlmﬁaﬁmmwmﬁﬁm
mmﬁaﬁmﬁnwﬁmmmm&%?

(1) amEs &g (2) wmifeaes Aq
{3) S A (4)  FEHTOT g

17 P.T.O.
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44,

qasma?muﬁ:'rﬁumﬂmmﬁﬁsﬁqaqﬂﬂwwmﬁﬂq
%ﬁ%lsﬁumqrﬂamwmwﬁmmﬁ%m#ﬁaﬁqﬂ
a?tﬁarﬁsxﬁﬁﬁmxmaﬁﬁﬁﬁmaaﬁm:,

(1) 10003 (2) 1040 30 (3) 9960 A (4) 960 AH

_ In the Young’s double slit experiment white light source produces a

central white fringe and the colours of bright fringes on either side
of it are as follows:

(1) The inner edge is red and outer edge blue.
{2y The inner edge is green and outet edge orange.
(3) The inner edge is violet and oute: edge red.

(4) The inner edge 18 red and ourer edge violet.

ﬁﬂ%fﬁmﬁ{gﬁﬁe}nﬁmﬂa&ammmﬁﬂﬂmﬁﬂ
ﬁiﬁ%umﬁ%ﬂﬁtmaﬁ‘fﬂqﬁﬁﬁﬁﬁaﬁmiﬂﬁﬁﬁmﬁ
qeETT o Bl &

() MWWWWWTW

(2) mmmmmww

(3) Srerft Frea AR aen ared R S

4) ﬁaﬁﬁﬁﬂmaﬁﬂmmﬂfﬁmnhﬁ

The series of spectral lines in the spectrum of hydrogen atom that

lies partially in the ultraviolet and partially in the visible region is
known as :

(1) Balmer series (2) Lyman series

(3] Brackeil serics (4) Paschen geries

20
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BT AT @ Wege A Qe Yol @ A AN it @
A U wen SAifdRE w9 § 99 @ 7 orh B @ wed €

(1) &z foeft (2) @mEwe Aoft
(8) #He Aot (4) 9reE=r St
The fundamental unit for textile yarn and fabric is :
(1) fabric (2) fiber

(3) cloth (4) thread
m,aﬁ'azﬁwﬁﬁqﬂwﬁré%:
(1) s (2) wEET

(3) T 4) o=
“Sericulture” is related to production of :

{1} Wool (2) Jute

(3) Silk (4) Cotton
afpeay Frafafag & Saea § d@difeg &

(1) & (2) =

(3) W™ (4) @est
Following is a mono unsaturated fatty acid :

(1) Palmitic acid (2) Oleic acid
(3) Linolenic acid (4) Linoleic acid

21 P.T.0.
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BE. The three basic nutrient which constitute our diet are !

36.

57.

(1] Protein, carbohydrate and fat
(2] Protein, water and fat
(3; Carbohydrate, water and fat

(41 Carbohydrate, milk and fat

gy aER # fW Hgd 9ee aF ©

(1) M=, FEeEde o a9
(2) 9rEF, S@ oF gE

(3] HEAEFHE, TA 0 qG
(4) FTETETEIC, U @ TH

Vegetables are mosily pickled using :

{1) Sugar [2) Spice

f3) Vinegar (4) Benzoic acid
afsat w1 =R F M f ggE gnn €

(1) =1 (2) HEE

(3) T (4) A~AIEH I
Communication process is initiated by :

(1) Format : (2) Sender

(3] Receiver (4) Message
dart gfFa & orives § o

(1) wrEy (2) ﬁqaﬁ

(3)  wrevEAt (4) T

24
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Following is an audio aid :

(1) TW. (2) Chart
[3) Over head projector (4) Radio
FreffEa o% usg qnE B o

(1) e (2) =&
(3) SAETEs WAge (4) Uy

Which ot the following relations for expressing volume of a gas is not
correct ?

{1} 1L=10° mt (2) 1L=1 dm?
(3) 1L=10° m? (4) 1L=10® cm?

Fr=1 & ®E-a gy @6 e § ot @ gl =g 7 w4l
Teten & 7

(1) 1&eT =10° el ey (2) 1&§eET = | g2 v
(3) 1 &ET =10° gHIEY 4) 1§=T =10 TR oo

The root mean squere velocity of gas molecules is egual to

e oropelt W Arem gw A awew B ¥

JERT ART RRT 3RT
Sy @ (3) "HL-M_ W

NH, can be liquefied at ordinary temperature without the application
of pressure. But O, can not, because :

(1} Its critical temperature is very high.
(2) Its critical temperature is low.

(3) Its inversion temperature is high.
(4) Its inversion temperature is low.
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NH. &1 &TSToT AITE 97 fae @ & oA [au gy dfan B
A HweT B aveg O, & AE, D

(1) EH Fiver® AT TGA AT |

(2) G WIS AT B 8|

(3] TEH kA TIPTH TGEl 8 |

(4) THHI FEPH AT HH & |

62. The hybridization of 8 in 8F is:

S = SF, 8 ®Fnm &
(1) sp'd? (21 Spid (3) dsp? (4) Sp?

63. [ransition of one mole electron of hydiogen ntom from n=3 level to

=2 level results @
(1) Lyman Series (2) Balme: Seiies

(3) Paschen series (4) Brackett series

ZEETA YA & OF HIA TSI $1 n=3 & q n=2 €W H
HEFHOT 1 uftony g ¥

(1) FEIT sEen (2) A FEE
(3) 9T HE (4) ST HEm

64, The molecule which does not form hydrogen bond is :

TE V] N BEEOT G A€ F@, q® B
(1) HF - {2) HO [3) CH, (4) NH,

26
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49,

(1) dffafEs o (2) JATEH T

(3] RS o (4) forirrEe. s
Following is a common symptom of vitamin A deficicncy :
(1) Rickets (2) Bery-bery

(3) Scurvy (4) Night-blindness
Frefofaa R @ & =gAar @ g e 8

(1) Ra@za 2) SEEH

(3) whdl (4) TereR

Edible oii is mostly ad;.ﬂterated with :

{1}  Olive oil (2) Argeriric oil
(3) Peanut o (4) Red palm oil
g1 drg 39 A =gy fHamEe #i owd o

(1) oitfera 3= (2) Snf¥HE =

(3) HIwel d= (4) = 9 d@
Following is & dry heat method of cooking food ;

(1) Baking (2) Pressure cooking
(3) Boiling (4) Steaming
Prefefeae wiom g @t eeag R[Afy 8

(1) 3w (2) R FHED

(3) IHEET (4) ar=g=

22
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The missing projectile in the reaction :
H+? 5 H+ n is:

{1)] Proton (2) Neutron
(3] ¥-ray (4) Deuteron
T T ATHRRT 7 araen Yarw B

tH+? > |H+ !n is:

(1] et (2) =g=

) 7-Feror - (4) FFEH
The equilibrium constant {kc) for the reaction is -

g 7@ sifafpar & Gra Rewi (ke) B
CaS0,.5H,0 (s} == CaS0O,.3H,0 (s) + 2H,0 (g)

[CaSO,.3H,0]{H,0] [CaSO,.5H,0]
(1 ™ (Cas0,.5H,0] @) [CasO,3H.0]1A.0F

(3) [H,0F 14} [H,0]

The yield of the product in the reaction :
N,(g]+3H,(g) «== 2NH, (g) + QKJ

Would be higher at :

(1} High temperature and high pressure.

(2) High temperature and low pressure.

(3) Low temperature and high pressure.

(4) Low temperature and low pressure.
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Sugar found in milk 1s :

(1] Sucrose (2) Maltose
(3) Lactose (4) Glucose
gy # qiF WA gt e #

(1) Gehrs ' (2) T

(3) SRS (4) TSI

Disease caused by deficiency of iodine is :

{1} Anaemia (2) Goiter

(3) Rickets (4] Scurvy

e B FHt F B A A0 B

(1) =T (2) TEEEY

(3) Radgw (4) TR

10 gm of sugar provides kilocalorie :

10 OFT 96T & 919 B grell dard ® -
(1) 20 2) 10 (3) 60 (4) 40

Focal point around which other resources are allocated and vsed is :

(1) Skill {2) Time

(3) Money {4} Energy

=z fag Pras fevm & s gt & oder Bear s @
(1) ahrere (2) €99

(3) 9= (4) ol
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18U/92/17(i)

fau o wFRERaT ¥ S W A Jary @ fog e ) oRfeRy erl
N,(g)+3H,(g) = 2NH, (g) + QKJ

{}) I=9 TI9HE UFq 359 B4 |

2] I aErE g e EEE

(3) =1 armE gayg 3=a 94|

4y Fr= amgwm way B oo |

68 AS, S, isa -ve sol. The ion with highest coagulating power is :

AS,S, T ve dTeT 3| o R @ awer st B oaw
CAR

(1) Na’ (2) Ba¥ (3) Fe* {4j Sn*

69. in thermodynarmncs, G = H-TS, where S is :
17 Enthalpy (2) Entropy
13} Free energy (4) Internal energy

Fo e 3, G =H-TS, 98l S B ¢

() T (2) T
(3) FF FoA (4) STafi®m I
70. The products of hydrolysis of Lactose are :
{1} Glucose & Fructose (2) Gluacose & Glucose
[3) Glucose & Galactose (4) Amylose & Glucose
APy F Ad@-TIHST & I € ¢
(1) TgerE 3T paerd (2) g AT T
(3) TR AT e (4) CHESE T IgEH



71.

73.

74.

15U/92/17(1)

The process of zone refining can not be used for :

(1) Silicon (4) Germanium
(3) Gallium (4} Calcium

Heot qRehew &t Rafty 99 R gam AEl HT [
(1) Faferpts (2) wsAfrgy

(3) ooy (4) FH=han

The monomer used for getung the polymer TEFLON is ,
ﬂm‘%ﬁ#’ﬁ%ﬁﬁ%hﬂgﬁmé :
(1} CH, ‘CH=CH, {2} CH, =CH-cI

(3} CH,-CH=CH, (4) F,C-CF,

In Paramecium Aurelia, the method of nuclear reorganization followei
by the division of body within single individual, without any nuclear
exchange or fusion is called as :

(1)  Amphimixis (2] Endomixis
(3] Hemxis (41 Conjugation

WW#%MHWﬁmmﬂaﬁa&u
ﬁwmnmﬂrﬂﬁmﬁﬂm.ﬁm%namﬂﬂmﬂmﬁm'tm

Occurrence of structurally and functionally different types o
individuals within the same organism during its life-hisrory 18 knowr:
as

(1) Polymorphism (2) Metamerism
(3) Metamorphosis (4)  Polymerism
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%ﬁﬁﬂ%ﬁﬁaﬂmﬁﬁwﬁﬁﬁﬂmnﬁﬂﬂﬂ%

HTE 97
(1) agefE e - (2) R@Um SaERn
(3) BT (4) Tgedy ReEa
75. Green gland is found in :
(1) Nerets (2) Obelia
[3) Prla (4) Palaemon
afrer nfey arht ol B
(1} G (2) ofeEfET
(3) a7 (4) #rm
76. Bipinnaria larval form is found in the phylum :
(1) Annclida (2) Arthropoda
(3] Kchinodermata (4} Mollusca
qiein=ifim die-fEa & weT g e ¥ o
(1) oS (2) @wgrarsT
13) gErERel (4) WHeTER
77, Larval form in polycheta is known as :
(1) Tornaria (2) Trochophore
(3) Glachidium (4) Brachiolaria
qiefieftaT % Fe-fEe @eg B A S 8
(1) A (2) EIERIHIT
(3) TERSTH (4) EfFEETE
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78. Which is not a chordate character -

81.

(1} Dorsal hollow tubular nerve cord

(2) Longitudinal Supporting rod-like notochord
(3) A series of pharyngeal gill-slits

(4} Diplablastic

T | AT W wrder & Rdmar a9 2 -
(1) T "WrEen g e 1o

(2) T=uE orgRed wuely 49 1oy
(3) TEH TEL F uw s

(4] wrfa-Feeech
Which of the following animal {s not a vertebrate ?

(1] Frog (2) Fish

(3) Sea horse (4) Bea squirt,

g & PIwE ot et B -

(1) Hew (2) ¥

(3) & Hren (4) WA uNl oy
Members of order Dipnor are commonly known as :

(1) Cowfishes (2) Pipefishes

(3] Lungfishes (4) Catfishes=
Retsng # gewa amry v o wrd we g

1) FrafhEE 12)  MsqihiEy

(3) wfhdwm (4) Hefpan

Catadromous migration 1s concerned with movement of fishes -
(1) From fresh water to fresh water

(2) From salt water to fresh water

(3) From fresh water to salt water

(4) From salt water to salt water
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83.

%amwnm%mﬁmﬁmt
(1) #Hier s | HEr 99 (2) @geig o@ & @ a9
3) e T 8 sgei T« (4) s o/ § FEOiE A9

wWhich of the followsng is not a function of air-bladder ?

(1) Respiration (2) Reproduction

(3) Hydrostasis (4) Sound production
st @ @ amned w1 o T8 8

(1) s B (2) w== R

3) emgrefia (ow BeEs) (@) afy I

The third evelid in frog is called :
(1) Pineal eye (2) Upper eyelid
(3) lower eychd (4) Nictitating membrane
¥ B gANT AT ETT B
(1 dfETE A= (2) HUH AFELT
(3) +raE ANETOT (4) A9 g
. The poisan gland of snakes are modified :
(1) Labial gland (2) Sweat gland
(3] Lachrymal gland (4) Uropygial gland
ad 1 faw af ot w9 b
(1) @€ #f@ (2) @& Y
(31 a7y uf" 4) oA Oy

Heart in crocodiles 1s :
(1) Completely 4-chambered (2) Incompletely 4-chambered
(3) 3-chambered (4) 2-chambered

32
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Y= FT 859 © -

(1) gof a3 (2) STyl =re-de
(3) H=E-Aedt (4) -t

. The study of birds is known as :
(1} Ornithology . (2) Herpetology
{3} Ichthvology (4) Oology

qfért =1 ovemgs ger § o
(1) onfrerersh qaftares (2) sRdEmh  Fhgame

(@) RIS AT (4) T el ey
Which hormone is used for ripening of fruits ?

(1) Auxin (2) Ethylene

(3] Cytekinin {(4) Kinetin

e B mH B BRE sl @ wEnr der & 7

(1) e (2) surgEe

(3) wEerEsEfT (4) wgAfes

The capsule of fern sporangium bursts at :

(1] Stomium (2) Annulus

(3} Placenta (4) Romenta

e F T w1 Pge HEl gear &

(1) =i (2) aqgeE

(3) <E=T (4) A=

Complete dominance is absent in :

(1) Pisum sativum (2) Lathyrus adoratus
(3) Solanum nigrum (4) Mirabilis jalapa
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91,

92.

93,

quf gufaerer fras srqafeera &an 2 -
(1) GrFers &<y (2)

(3] TraH FIE

Codon is present on :

(1) t. R.NA. (2) m. RNA. (3)

Frerr g gv Iuftem 2 ¥ ¢
(1) Fo AXoTATo
(3) Ao H{oWHaTo

Winged seeds are found in :

(11 Pinus

(3] Ranunculus

JEgE e fEed af S ¥
1y 999

3) TFTHITT

Pollinium is found in :
{1} Croton
(3) Pea

giffas Read g @ @
(1) ==
(3) #HZX

Example of partial root parasite is :
1) Cuscuta
(3) Viscus

34

(2)
(4)

(2]
(4)

(2)
(4)

(2)
(4)

(2]
(4]

(2)
(4)

FErEvE HISiew
(4 P serar

r.RNA (4

THoHATToUAol o
dlo T oT0

Cyecas -

Papaver

e
g

Calotropis
Sun flower.

BRI
LI

Santalum
Loranthus

D. N.A.
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aﬂmﬁmﬂﬁfrﬁrma:

(1) &FegeT (2) T
(3) By (4) @RI

Which one of the following is known as Bog Moss ;

(I} Marchantia {(2) Anthoceros

(3) Sphagnum (4) Porella

M= 7 8 8 R A e B

(1) . &TBf~aar , (2) gERTY

(3) =BT (4) gGivor

The membrane of vacuole is known as ;

(1) Jacket (2) Tonoplast

(3) tonoplasm (4) Reticulum

waurt # el Feer @

(1) See (2) ErreTE

@3) I (4} ¥ErEE

Synthesis of D.N.A. takes place in :

(1) G-1 phase (2) G-2 phase

(3) S- phase (4) Both G-1 and G-2 phase
FloTAoUo F AT fpe sraven # &ar 2 .

(1) G-1 37Eren 2) G-2 gy

{3) S- e (4) G-10d G-2 e At
Pneumatophores are found in :

(1] Opuntia (2) Rhizophora

(3] Orchids ' (4) Cuscuta
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AAFE BT 98 AR 8
(1) afafar (2) BT
(3) SHfEIH (4) HEgeT
98, First stable product during dark reaction of photosynthesis in C,
plants is ¢

(1) Oxalo-acetic acid

(2) Phospho glyceric acid

(3] Phospho glyceric aldehyde

{4) Ribulose 5- phosphate

eIl HIASOT & FAWHENT AR & §99 guw Tl S /&
'

(1) FFRen-gafes o

(2) wrEpiaaiEs st

(3] HERIAAHNE FTEERE

(4) TAGAST-5-HEHS

99, Saflron is obtained from :
(1) Crecus sativus (2) Foeniculum vulgare
(3) Cocos nucifera (4) Anethumn gravealens
& RrEd gra e o &
(1) g qoEay (2) WIEAGET FFIGT

(3} @FIHE BT (4) gReT ARCHE
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100. Coffee plant belongs to the family :

(1) Solanaceae (2) Rubiaceae
(3} Apocynaceae (4) Euphorbiaceae
w8t w1 Ry R HE o B

(1) A ' (2) i

(3) THrEERH (4) goHrRfETE
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ROUGH WORK
T wd
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ROUGH WORK
% &
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